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33600000 4b4npqp L qun(uunuAp rybp

33621740 Urhnnhurhh Sdo ql r/hum 900 I 8100

336217t0 Umb0nLnt 50dq ql 4/hum 100 4,05 405

33621760 khurprqplrl 5dq ql r/hum 3600 5,25 18900

336L1190 Ub0nq[40bp Ca 13,5ilq qi 4/hruur 100 12,88 ,I2BB

33621-LLO .ltup$rupfrO 0uunp[ Sdq ql flhuu 100 32,9 3290

3362tLtO .tun$tunhO fiumpf 2.5ilq ql q/hum 300 8,47 2s41

33621620 UuhnnOnruUmn0 25dq q1 4/hum 600 35 21000

33621380 rlhqopuh0 0,25rJq ql q/hum 200 6,1 1220

33631310 rlfr!1n$b0rul1 0ump[nLd 1% 30qn ql r/hum 5 158,4 792

33631310 r}lrllln$b0ur11 50dq ql r/hutn 100 14,64 1464

33631310 r}frllln$b0u11 nbtnup4 1 00dq ql 4/hum 100 57,68 5768

3363L310 rlhllLn$b0urta 25dq/d1 3 ql uJUu.l IJ 78,4 1176

33691231
tlurgfrntrt]r \urppnhurur, tl]rururtt]rh D3
500/200

ql r/hum 300 37,78 11334

33631300 Qhurnrunn$htr 100tlc ql r/hum 150 73,92 1 lOBB

33631300 qhurnutnn$hb nn0nnn 2,5o/o 50q: ql hum 3 0

33621690 lurnrlhnhrnr 25dq ql dhum 150 35,9 5385

33621690 Qurprlt4|rp1 12,5dq gl q/huu 300 32 9600

33621690 lurprlhafunl 6,25ilq ql r/huu 150 25,2 3780

33621390 Udfrur4upn6 200dq ql ry'hum 300 63,8 19140

33621420 Urnnnrluruurururhtr 1 0tfq ql ry'hum 120 29,2 3504

3362L420 Uunnr.l uruuururhh 20rlq q1 r/hum 600 33,99 20394

3362L420 Utnnnrl ururnururhh 40ilq ql r/hum 150 74,99 11248,5

3366LL2r Ugbm [1uru 1fr g[r1ur-ppn r 1 00ilq cll flhum 1800 18,99 34182

3362L720 Fhununnrnr 2,5ilq ql ry'huu 360 0

3362L720 lhununnrnr 5Uq ql flhum 450 B,B 3960

33621720 Fhunutnnrnr 1Odq ql ry'hum 180 24,6 4428

33621370 f,qnunppIm[ 4[0[mpuun-1 0 ql 4/hum 300 0

3362L370 I'qnunppIunh nh0hmnum-20 gl q/hum 300 0

33642230 Lhnrahnopuhh trunnnhntil 1 OOilttq ql r/hum 700 15,52 10864

33661 1 53 rlblluuilhmuqnO ull0ruQruplrl 0,1% 1Odg ql 22hll 2
0

3361"1r.60 Uhrnnhrnrunurilhn 1Odq cll r/huLn 100 0

3361_LL60 Uhr.nntrnutnurilh4 5tlc /dr 2dr q1 unrl 10 53,84 538,4

3361_L100 Orlbulpuqnl 20dq ql r/hum 300 12,9 3870

33661 156 Ohrlnnr silr ql ??il) 5 0

33621600 hhnururunlhn 2,5dq ql ilhum 30 16,88 506,4

33621600 h\urqunflr41,5ilq ql n/hutn 120 47,87 5744,4

33671113 Uurtpmurunlnt qnnurqhn 1 Otlt ql hunn 10 1000 10000



rl'l

3365r_2s3 Sru0opuh$b0 20dq ql r/htum 150 69,8 10470
33651253 Surrlopuh$b0 1Odq qi r/htutn 90 0

33621590 bnrnnubdhn 40dq cIl flhum 300 4 1200
3362t700 Uhunrunnrnr 50dq q1 ry'hum 300 23,3 6990

33651-L!2
Uilopu[gf $h, \urfirmtt]r plun{ntlurtrurtn
1.Oon

qt flhuun 20 348 6960

33651116 th$urqnrhtr 1,0qn q1 22HJ 15 170 2550
3365111_8 3h$urnhurpunh l,0qn q1 22hl) 15 0

33651 131 UmlStuilhpopuurqnt+uphdhpnqplril 800/1 60 ql r/hutn 20 370,12 7402,4

33651 131 Untr$utilhraopuurqnr +urnhdkpmu nhd 400/80 q1 n/hum 20 12.2 244

33651150 bgnrtln0uqnl 150dq q1 4hququr
mh6 5 0

33621730
{hpurquni}r1 (rlhpurquli}r$ hfrapnptnpb+)
40tlo

q1 r/hum 90 0

33621730
{hpurquril}r1 ({hputquil}rfr h}rapnplnpfra)
B0rlo

q1 ry'huLn
120 26 3120

3362L140 qlnu.lh4nqpbL 75ilq qi n/hum 300 79,9 23970
3362L700 Uhurnrunnrnr 25riq q1 n/huur 600 1B 10800

33651L25 Uqhpnntthqhh 500ilq q1 dhtum 10 402,45 4024,5

3363t290 F,nmurnn$hh 400tlq ql dhum 100 21,89 2189
3361L440 .lhurunihh tr hunlurrhn ql und 20 109,19 2183,8

33621210
hnlpph
uru-1$urur1 1 2,6+Snlhuppm5rfq, +Q,Q I {q
rlhur 812

ql flhum
90

84,62 7615,8

33621580 1[4pnp1npIp]ruq[4 25dq ql ry'huLn 100 11.84 1184

336422rO lnbn0hqnrn0 5ilq qi n/hum 100 0

3366LL22 ftuprugbmudnl 500dq ql n/htuur 100 5,6 560

33621590 bnLpnubdfr4 lnrdnr;p 40ilq/il1 q1 un4 10 28 280

33651254 Lbmpnqn12,5 q1 ry'huun 90 635,92 57232,8

33621740 tlrlrfflhulhtl 5Uq q1 ry'hum 4200 6,6 27720

3362L7tO Umb0n1n150dq q1 dhum 300 4,05 1215

33611190 Uh0nq[40hp ql flhum 300 12,88 3864

33621110 .tun$unh0 Oumpf Sdq ql r/hum 1000 33,5 33500

3362t620 Jq[pn0n1u!mn0 25dq ql flhun 4000 35 140000

33621380 rlhqoBuh0 0,25rfq cli r/huu 300 6,1 1830

3363L3L0 rlhUrn$b0nrU Or.uunnhnrd 1% 30qn ql ty'hutn 20 151,7 3034

33631310 rlhUrn$b0tutr 25Uq/Ur 3 cll rudut 40 78,4 3136

33691231
Lt*Ehr..Ilt \urppnhurur, ftuuilfL D3
500/200

q1 ry'hum 1000 41,21 41210

33691231

Qtulgfinrd]r l1ruppnOum {hmudhfi r] 3

500dq./Qn 1b11u 19 lt$ bp n 1

200UU,rluq[bqfinrd 40fq,q11[0d 1dq
glr0! 7,5dq, dupqu0bg 1,Bilq,pnn250dq/

q1 rt/hum

240

59,12 141BB,B

33631300 lrhurnrunn$hh 100dq q1 ry'huLn 600 69 41400

33631300 Uhunqnn$hh nn0nnn 2,5o/o 50q ql hum 10 1798 17980

33621690 lurnrlhnhrnr 25dq q1 dhum 300 36,75 11025

33621690 lurprlh4lr1nl 12,5dq q1 ry'hum 1800 28,875 51975

33521590 Qrunr.ltnhrnr 6,25ilq cIl r/hutn 600 23,8 14280

33621390 Udhununn0 200dq ql rt/hum 900 79 71100

3362t420 Uurnnrlruuuuruhh l OrJq q1 r/htuur 900 32 28800

3362L420 Utnnpr]uruurururfh 20riq q1 r/hutn 3000 42,15 126450

3362t420 Ur.nnnr.l ururmurnhtr 4 Oilq q1 4/hum 600 68,4 41040

3366Lt21 UqbLnhr urur hqhr u-ppnr1 00dq q1 r/hum 10000 18,1 181000

3362L720 Fhunqnntnt 2,5dq ql n/hum 1800 9,9 17820

3362L720 Plrunqpnlnl 5dq q1 ry'hum 3600 8,9 32040



33621720 Fhununnrnr 100q q1 ry'hum 900 26,75 24075

3362L370 f,q nunnnhmh nh0hunnum-20 qt ry'hum 3000 34,8 104400

33642230 Lhnrahnopuhtr bururnhmrl 1 00dLq cll dhum 800 14,81 11848

33661 1 53 lupuruuEutlqnu 4uq/u[ cll unLl 50 89,1 4455
336111"60 Uhunhrnurnurdhn 1Orlq q1 ry'hum 200 0 0

33611160 Uhrnnbrnutnuriltur Srlq /ilr 2dr ql uFq 10 53,84 538,4

33611100 Cdbqpuqnl 20dq q1 r/hum 1500 13,62 20430
33661 156 DhrJnrnr 5il1 q1 ??hl) 30 414 12420

33621600 hhnurqrutthl 2,Sdq ql ry'hutn 300 16,88 5064

33621600 htnururunlhnl,Sdq ql ry'hum 1200 49,73 59676

33671 1 13 Uurrrnururilnl o-u1qhn 1 Odt q1 hunn 10 1000 10000

33621590 $nrnnubdhn 40dq ql n/hum 600 3,775 2265

33621590 bnLpnubdlr4 1 0ilq/d1,2tl1 q1 und 30 24 720

3362L700 Uhurnrunnrnr 50dq ql n/huu 450 23,82 10719

3365LtLz
Urlopuhgh1}r h, \urfrmilfr plunlmlurhruur
625 ilo

q1 ry'hum 50 117 5850

33651 131 Untl$turfhpopuurqnl+upbdhpmrlpfll 800/1 60 ql r/hum 100 322,28 32228

33651 148 qlnmnnuuqnl lbqn 1% ql hum 5 210,4 1052

33631100 UhLln0uqnt 15qp 2o/o q? hum 3 348 1044

336s1150 $gnrln0tuqn1 150dq ql 4brluqu
mh6 20 229,53 4590,6

33691 136
uumnnnluF ptnnn4 euq/u[, 5ul
udqnrlu0hp

ql unq
10

31,4 314

33691 145
ur.uguuqrrnrurr unr[+um zcuuq/u[, cul
rudrqnrluIbp

q1 unq
10

31,4 314

33631250
rpuunl 96"h, tnlonrjp unmupnu

!f ptundu0 thmn 20
914,37 18287,4

33671 130 llr$b0hlr4prurlh6 1Uq/dt 1% ql und 't0 23,52 235,2

33621290
h{FuuQpFu ( hqpuu}Pttttft
hlr4pnrnruptnpunn) 0, 1 B%

q1 unq
10

138,5 1385

3362L730
{hpurquntfrl (r{hpruulunfirfir hfapnptnFhq)
40rlo

q1 4/hutn 300 18,49 5547

3362L730
{bpurqunifl (r{hpurqurdf$ hlqpnptnpllr})
B0rlo

q1 r/hum 360 26,19 9428,4

3362L140 t{Lnuthnnqnbl 75dq ql n/hum 600 87,5 52500

33627700 Uhrnmunnrnr 25dq q1 n/hum 900 18,2 16380

3363L290 FnnuunnShtr 400rlq ql n/hum 300 17,8 5340

33621210
hn\*fnlt
untl$unn l 1 2, 6 +$nlhufdfdnl5ilq, +0, 0 1 ilq
rlhur 812

q1 q/hum
180

85,6 15408

33621580 lhnnnpLnnhphuqhn 25dq ql n/hum 300 11,84 3552

336422LO T lnbn0hqnLn0 5dq g1 ry'hutn 300 0 0

3366Lt22 'rlupurgburudnl 500ilq ql n/hum 500 5,6 2800

3365t254 LbmnnqnL 2,5 ql ry'htunt 210 629,867 132272,07

PhthuUu0 Qntpbp 0

24451140 llfumuhur0hl 0rnLB 0,5r ql hum 2 0

24451',140 tlfumuhu.rOh;0rn[s 1r ql hum B 0

24451140 llfuuurhru0hr 0rnrp 1
ql hum 15 0

24451140 Ufuuurhru0fl 0lntp 11 ql hum 10 0

24451140 Jfumuhu0hr 0rnLp 1000q. ql hum 10 0

24451140 llfumuhu0hr Grnrp 750r.fi ql huu 20 0

33141 160 Un0nanuShU qbt q? tmn 15 0

24931500 Fd. Ilhtrurq.durq.hpbu\. \,1ntp q1 thLnn 150 0

24931500 trd. Ohlnnq.durq. bftQutud ql rhmn 75 0

33210000 lbfnqlnpf0 AIC ql pbum 40 0

332tLL20 3-Col qynLQnq ql pbum 4000 0

33211310 0pndpnqlu.ruun ql pbum 360 0

33210000 "dbpufn0 '1nL4
ql il1 200 0

332LLt30 hLbumbnh0h npn2du0 hrutlruBudnr q1 phum 2900 20,4 59160



33211130 Pnlbumbpnl HDL ql IJL 100 64 6400

3321L130 ?nlbumbnnl LDL ql d1 100 0

33211150 Uhou0rnreh nnnrrltu0 htutlutpudnt qt Bbum 400 25 10000

33211160 IREA-Co| UnbumhEh0 ql Bbum 400 0

33211140 :pftnnrpfr0 q1 Bbum 300 37 11100

33210000 tLs q1 Bhum 360 25 9000

33210000 JUS q1 pbuu 360 23.75 8550
3321 IUL-O ql Pbum 200 0

11180 SnhqLhsbnhrl q1 sbum 300 0

33211250 C-nhurburhrl uuhulurtnlq q1 pbum 600 0

3321 1 190 SnthUtn0 urhurh A q1 Phum 400 0

33211200 SnthUtn0 urtrurh B qt Bbum 400 0

33211220 SnrhLrn0 urllnh D Umrutn ql pbum 400 0

33211210 SnthUtn0 urhurh C Untr4hp qi pbum 100 0

33211320 RapidSignal HbsAg WB Sbqruufim F q1 BbuLn 150 280 42000

33211230 UhDhLhuh tnbum RPR cIl BEULN 1 300 36.5 47450

33211240 flhrfurunhn burtrnn ql pbuLn 300 0

332LrtLO tlhnhutnhh 2 ql pbum 300 26 7800

33210000 tu1u0[r4[tu IGG ql pbum 960 214,583 206000

332L0000 ultu0fr4lrtu AG ql pbum 40 0

33210000 Lpburpqf 6lt0/Urea-arginine Lyo/ ql LnnLq'l 2 0

33210000 ln0uGn{u11[r -qhUqur q1 tl1 2000 0

33210000 tlqnqfrpud cl1 mnr+ 3 0

33210000 14 tuqum ql pbum 192 0

332L0000 f1u TSH q1 pbum 576 0

33210000 PSA q1 pbum 192 0

33210000 +qs q1 pbum 240 49,1667 1 1800

33210000 Zhrqulnlln 3 q1 pbum 150 290 43500

33210000 Ufumnpn2f1 0;nLp COMBUR UR ql pbum 200 0

33691163 b04n uqup ql qn. 500 0

3369L742 Ubpfrlb[ luqnrltn ql qn. 50 0

33210000
uub nnlnn rpj nrun umntqn n n u4nqruLnn n ulruLnn nn2n,
0;nLp 180 urum[6ut0 60 pnqb

ql hum 500 0

33210000
umE nn[nnrpjntun umntqn4 nu4nqrumn n rlrlumnn nzFl
01nLp 132 tuumf6u0 20 pnqb

q1 hum 250 0

33650000 3tu!urpfrnLnf ! 4lru! Qu$nu-o$lnpuugft0 ql $1u11n0 1 0

336s0000 lurlupfnmf! 4[tu! gb$tuqnth0 -Ub$qnL q1 $1u11nI 1 0

336s0000 3ulrupfrnLnf ! nhuq Shqnn$lnpuugft0 q1 $1u!nG 1 0

33650000 lrul4upf nm[! r]hu11 uqhPnnUhgh0 q1 $1uL1nG 1 0

33650000 lu:llurpf nuf ! 4ltu! tu0npuugft[t0 ql $1u11n0 1 0

33650000 irulurp[nmf l4 4[tu! untqfb0mf 0 ql $1u14n0 1 0

33550000 lurluphnmhLt rlhuU qh0ugb$-gb$nLnn!ult0 cll $1u!n0 1 0

33650000 ilulrup[rnmfr! 4[ru! 4n 11u [t glttt Lh 0-tlhpnu0hgh0 q1 $1ul1n0 1 0

335s0000 lnr|.1tuphnmhU 4ftu! $1nLl1n0uqn1 q1 $1ulqn0 1 0

33650000 :pfppng[mu1ft0 qu0q{ud cIl Lnnqpu.rLl 1 1 8000 18000

332L0000
[p1url.r ilh2 q11nt\nqfr du\up4u\[ npn2rluh
[\!nr--2hp'Tlhp$nprfur phuur-hpfrqhhp UU hum 1000 108 108000

Pnd uuppu(npnul0bp,
ann0hp0bn.uunuau0bn

33141144 Uubn 0bnunUrlu0 httttltun G-21 cll hum 5000 0

33141144 Uubn 0bnunllrJu0 hutltttn G-23 q1 hum 300 0

33 141 142 t hnurnbhr uruhnntl Stlt ql hum 100 11 1 100

33 141 142 t hnurnlrhr uruhnml 2tll q1 hum 200 11 2200

33 141 142 0bnunUhl 1.0rlLh0untLh0tulh0 q? hum 100 0

33 141 142 l,hnurnbhr uruhnml 10tlt qi hum 50 17.5 875

33t4Llt7 FrudpurLt 50qn ql hum 300 69 20700

33141111 Uurtrrurhh 2.Surl*Sil ql hum 20 120 2400

33141111 Uruhnurhh N10 q1 umrh 200 28.9 5780

33161220 Cuunnh rhurnnh q1 hum 1000 4.5 4500



33r.41156
Qhntrngtrhp pd2\ur\uh qhdtuh lurr.nhpufrg
nr uurhnhr rulhun M

q1 hum 3000 12,9 38700

33141129 rlhfutlt hnuuhnrn ql hum 300 9.58 2874
31 651 200 hUQ dutututlb0 50"30 ql hurn 20 0
31 651 200 hUQ dnrrunrrlb0 60.30 q1 hunn 50 390 19500
31651200 hUQ duuttutlb0 50.50 qt huru 10 410 4100

33L4Lt43 UUunh$hl1urmnp lurJtup qt huru 3000 3,45 10350

33140000

qupnghtt pd2l.1tul4ru0 01-200
nudu0nrd0bnnd

ql hurur
1000

2,4 2400

32351230
Ob[mqb0 duqtu{b0 1B*24
N100/bnU0uonrr0/

qi urntrlr
3

0

32351230
Ob0mqb0 duqu{bO 13*18
N100/bnU0uqnrr0/

luu um{r 1 6800 6800

33111140 $t tntnnn dunuunlhh l 1 0.30.5 q? rnmrh 15 0
331 1 1 140 bt tnrnnn duluunlhh l 1 0-30.5 ruu unrth 5 69000 345000
33140000 rlnh0ubnh Bntnp 1904/303 q1 hurtn 5 0

33140000
fll-0h{bnuuL pnLnp PH-f npn2fu0 hudutp
N100

ql hurur
100

12 1200

33140000 Unurnb urrurt urtr ruru urbh ql hurur 2000 7 14000
33140000 Ourbtrurruurth 24*24 q1 huru 1000 2.9 2900
33140000 Ourbtunurubh 18"18 ql hurtn 2000 3 6000
33140000 Ourbtrunuurbh 24.50 ql hunn 100 6.5 650
33140000 Thurhtn ROE ql hunn 50 120 6000
33140000 rlhuhur Uurrrh ql hurtn 50 124 6200

33140000
Onpdu0np uuurLn $upu t41nttl. hutdup cIl hunn 200 54 10800

33140000 Unru0 ru0urhqh unduU qbrnd Sdr cll hunn 500 0

33140000 Onndu0nB EDTA 2tlt ql huru 1 000 0

33140000 Onn6u0ns tub0nnn$ 1.Sdt q3 huln 1000 4 4000

33140000

allruumduub lruprupur.nnp qupuqu0bp
60rJr

q1 hunn
100

3B 3800

33140000
lfnp&urtrnp 6nnh\nq puntll t{hpgtrhlnt
hurtlurn rlurhnkurqhnb

cIl hurur 200 40 8000

33140000
rlrur;ur3ur 6nnh\ purdpur\nrl punlp
rlhnohhrnt hurtlurn riurhnturohnb

ql hurur
100

12 1200

33140000 Lhnn&urhnn ohlrtnnh$ntqur hhand q1 hurtn 50 7B 3900

33140000
elrbh\nlnqlrur\urtr 

^qhq 
punr-p rlhpghhlnr-

hunlurn ru r uruurrluruh
ql hunn

300
42 12600

33140000
bnftriurhlr q11urftll dfutt{uq
rornruo.nnbilurh

ql hurur
500

27 13500

33140000 thubu uruJumbnh uurhlnuU 3dl ql hurur 50 17 850

33141114 0u0qh$ pdzttuLltu0 q1 dhun 200 78 15600

33140000
Ugnrdfr0h 6n4+{[tullnqu $npdu0npn{
rlu0nturo bnd 1 3.1 65tld

qt huru
300

0

33140000
a[fi b[nlnqf ur llut 0 q4u 1ft 110 bp dfttu 0tluq
oomuonn6du0

ql hurur
500

0

33141156
Cbn0ngGbp pdZtttul.tu0 q0dut0 LuLnbpuhg
nr umbnhr rulfiun M

UU huru
1 500 26 39000

33141144 Uubn qnhl UU hunn 1000 20 20000

4unilhB
9132200 Fb0oh0 nbonu lun UU rhmn 180 420 75600

9132201 Fb0qh0 nbqnrnun UU rhmn 410 430 176300

Ounu1nry1nfihbp

90921 100
Jfumwhu0rltu0 l, dtu!upnqd0bnh nt0tugUu0
Sunulnrp;nr00bp UU 4nuu 1

4nuu

90521300
rdzquUuI pru$nUUbnn nlutujguutr
lunuJnrBJnr0Gbn

UU 4nud 1 4nruU

65300000
t1bluptulu0nLp1tu0 ptu2fudtu0 L 4put hbm llutult[Lud
6rrrnrrrrnr ornrfilihn UU 4nurU 1 4nuu

65100000
gpfr pru2furlu0 t, 4ptu hbm luultltud
6rrrnrrrrnrornr fifihn UU 4nLurl 1 4nu0

6421 3000
Q ur qrltu L1 b p q n Lp1 ru 0 g 0 4htu G n Lp h b nu fun u u1 | 0
ou0oh 6urnurrnLBtnL00hn

UU 4nurd 1 4nuu

72400000
lru du gtu 0 g ru1 | 0 6ur nu1 n Lp1 n L 0 0 b p/[ 0 m b p 0b ut Lu1 | 0
Irrrrrrr/

UU 4nurU 1 4nurd

90470000 .{nJnrnnr dupndu0 dunulnLp;nr00bp UU 4nud 1 4nurU



9051 1200 {bOgurqur1h0 ur4Fh hrurlruBfru0 duntrlnrplnt00hp UU 4nuIU 1 4nud

98392000
Sb4ruqhnfudu0
lrr r r nr r r r n r ar n r fi fi h n/n h n lir r r h n h rt t t n n n t tJ/

UU 4nurU 1 4nuu

5031 1000
l u !]r1 4p ur Oru p U rlult h 0 0bpb 0 tu 0b p I m bfu0 f Q ut ! tu 0

rrrrnrrrrrrrnlrnt tl UU 4nud 1 4nuu

66't 12000 rlbqnqfrtnulft0 durnulnrpln l00bp /nhb umpf {tupnLd/ UU 4nrud 1 4nrud

7'1353200
9urJruqpurQur0 hbtnuqnunr.plnL60bpf
trrrnrrrrnr ornr fifihn UU 4FuiU 1 4nuu

50400000
rd2lltutttu0 L 6zqnhm uuppbpf tlbpu0npnq[tu0 l,
rurhrrrrrrfirltrrfi Arttortttnl otnl lt UU 4nud 1 4nud'o

98390000 lJI dunujntPJnL00bn uu nnuil 1 4nu.tu


